I KBT

KB30D1720A8-18F-IJ

XXXXPol, 1710-2170MHz*4 33° 18dBi
Integrated RET ( Remote Control Unit ) Antenna

0-10°

Electrical specifications

1710-2170

Frequency range (MHz)

1710-1880 | 1850-1990 | 19202170
Polarization 1+45°
Gain (dBi) 17+0.6 | 17.6£0.6 | 17.840.6
Electrical Downtilt (°) 0-10
Horizontal power beam width (°) 3643 | 3443 | 3243
Horizontal beam pointing (°) +30 (B1,B2) ,-30 (B3,B4)
Vertical power beam width (°) =11
Front-to-back ratio (dB) 225
1st Upper sidelobe suppression(dB) 215
Cross-polar discrimination (dB) 215
Isolation (dB) 225
Impedance (Q) 50
VSWR <15
Intermodulation IM3 (dBm) <-107(2*43dBm carrier)
Maximum power (W) 250

Lighting protection

DC Grounding

Mechanical specifications

Connector 8*7/16 Female
Connector position Bottom
Height/width/depth (mm) 1400*396*190
Packing size (mm) 1630*490*320
Antenna Weight (Kg) 17.8
Bracket weight(Kg) 4
Radome material Fiberglass/Gray
Mechanical tilt(°) 0-15
Operating temperature (‘C) -40 to +60
Rated wind velocity (km/h) 200
Suitable pole diameter (mm) O50-P115
Mounting kit JM-900DZA
Electrical downtilt adjustment Integrated RET
RET model KRCU20D

Horizontal plane direction diagram

Tel

Web: http://www.kenbotong.com

No.2 ChanxiuRoad, Foshan, Guangdong, China. 528061
Email: kbt@kenbotong.com

: +86-757-82219788

Vertical plane direction diagram

Fax: +86-757-82212072



XXXXPol, 1710-2170MHz*4 33° 18dBi 0-10°
Integrated RET ( Remote Control Unit ) Antenna
Connector Position

‘KBT

Outline Drawing

396 190
oo, \ 2
75
=
x’ ©
mz‘ ‘ BA
1710-2170 WHz
AISE IN AISG 0UT & @ ) 710, (&) 3
@ = o i
i @
@ = @
B & B &= ™ B3 D\M
Y b

W10 Bolt
" Lower pivot ’
= Lo
® @ Comector b '\\ZLL\ -
| W |10 Bolt
Antenna
Vertical
| | #50-115
— ) . M1 Bolt [ Self-provided pole
Stepl: @ Install the M10 bolt and u-shape clamp on the upper and
lower brackets of the antenna and pre-tighten the M10 nuts.
@ Fastening the brackets to the back of antenna with M10 bolt
torquing the nut to 25N-m. IS lany
{ M6 Nut A /
Wb g P ?;
\‘\\‘/,/' ‘\ﬁjff/ Z S
Comector | Step4: Loosing the scale fixing
V J nut on the upper bracket,
, " — - adjusting  the  mechanical
Scale 0 _ . % downtilt angle of antenna to the
i ' _ _ Step3: Installing the antenna vertically to the suitable angle based on the
Step2 : Tightening the scale to the upper bracket with the M6 nut, fix support pole using M10 bolt, torquing the nut scale display, then tightening
the scale to 0 degree position, torquing the nut to 8N-m. {Above steps to 25N'm. the scale and all the nuts on the
must be completed under the tower before installing the antenna ). bracket.

No.2 ChanxiuRoad, Foshan, Guangdong, China. 528061
Email: kbt@kenbotong.com

Tel: +86-757-82219788

Web: http://www.kenbotong.com

Fax: +86-757-82212072



